

$$Ans1 = \begin{bmatrix} ans.2 = (AB = \langle 3, -3 \rangle) \\ ans.3 = (AB = 3i - 3j) \\ ans.4 = (|AB| = (3\sqrt{2}, 4.243)) \\ ans.5 = (u = 0.707i - 0.707j) \\ ans.6 = (c = 5.657i - 5.657j) \\ ans.7 = (d = -3.536i + 3.536j) \end{bmatrix}, \quad Ans2 = \begin{bmatrix} ans.2 = (AB = \langle -8, -6 \rangle) \\ ans.3 = (AB = -8i - 6j) \\ ans.4 = (|AB| = (10, 10.000)) \\ ans.5 = (u = -0.800i - 0.600j) \\ ans.6 = (c = -4.000i - 3.000j) \\ ans.7 = (d = 5.600i + 4.200j) \end{bmatrix}$$

$$Ans3 = \begin{bmatrix} ans.1 = (AB = \langle 4, -5, 6 \rangle) \\ ans.2 = (AB = 4i - 5j + 6k) \\ ans.3 = (|AB| = (\sqrt{77}, 8.775)) \\ ans.4 = (u = 0.456i - 0.570j + 0.684k) \\ ans.5 = (c = 4.103i - 5.128j + 6.154k) \\ ans.6 = (d = -2.279i + 2.849j - 3.419k) \end{bmatrix}, \quad Ans4 = \begin{bmatrix} ans.1 = (AB = \langle -13, 4, -17 \rangle) \\ ans.2 = (AB = -13i + 4j - 17k) \\ ans.3 = (|AB| = (\sqrt{474}, 21.772)) \\ ans.4 = (u = -0.597i + 0.184j - 0.781k) \\ ans.5 = (c = -3.583i + 1.102j - 4.685k) \\ ans.6 = (d = 4.777i - 1.470j + 6.247k) \end{bmatrix}$$

$Ans5 = \langle 24, -21 \rangle, \quad Ans6 = \langle 13, 10 \rangle, \quad Ans7 = \langle -11, 24, -31 \rangle, \quad Ans8 = \langle -18, 5, -16 \rangle$

$$Ans9 = \begin{bmatrix} ans.1 = [|a| = [\sqrt{106}, 10.296]] \\ ans.2 = \begin{bmatrix} b = \langle 30, 54 \rangle \\ |b| = [6\sqrt{106}, 61.774] \end{bmatrix} \\ ans.4 = \begin{bmatrix} c = \langle -25, -45 \rangle \\ |c| = [5\sqrt{106}, 51.478] \end{bmatrix} \end{bmatrix}, \quad Ans10 = \begin{bmatrix} a + b = \langle 15, 2 \rangle \\ |a| = [3\sqrt{13}, 10.817] \\ |b| = [\sqrt{130}, 11.402] \\ |a + b| = [\sqrt{229}, 15.133] \end{bmatrix}, \quad Ans11 = \begin{bmatrix} a - b = \langle -3, 16 \rangle \\ |a| = [3\sqrt{13}, 10.817] \\ |b| = [\sqrt{130}, 11.402] \\ |a - b| = [\sqrt{265}, 16.279] \end{bmatrix}, \quad \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ MUT \end{bmatrix}$$

$$Ans12 = \begin{bmatrix} a + b = \langle -4, 18, -15 \rangle \\ |a| = [\sqrt{219}, 14.799] \\ |b| = [3\sqrt{26}, 15.297] \\ |a + b| = [\sqrt{565}, 23.770] \end{bmatrix}, \quad Ans13 = \begin{bmatrix} a - b = \langle 18, 4, 1 \rangle \\ |a| = [\sqrt{219}, 14.799] \\ |b| = [3\sqrt{26}, 15.297] \\ |a - b| = [\sqrt{341}, 18.466] \end{bmatrix}$$

$$Ans14 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{113}, 10.630]) \\ ans.3 = (\theta = 48.814 \text{ degrees}) \end{bmatrix}, \quad Ans15 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{145}, 12.042]) \\ ans.3 = (\theta = 131.634 \text{ degrees}) \end{bmatrix}$$

:
:
:

$$Ans1 = \begin{bmatrix} ans.2 = (AB = \langle 4, 5 \rangle) \\ ans.3 = (AB = 4i + 5j) \\ ans.4 = (|AB| = (\sqrt{41}, 6.403)) \\ ans.5 = (u = 0.625i + 0.781j) \\ ans.6 = (c = 4.998i + 6.247j) \\ ans.7 = (d = -5.622i - 7.028j) \end{bmatrix}, Ans2 = \begin{bmatrix} ans.2 = (AB = \langle 4, 10 \rangle) \\ ans.3 = (AB = 4i + 10j) \\ ans.4 = (|AB| = (2\sqrt{29}, 10.770)) \\ ans.5 = (u = 0.371i + 0.928j) \\ ans.6 = (c = 1.857i + 4.642j) \\ ans.7 = (d = -3.343i - 8.356j) \end{bmatrix}$$

$$Ans3 = \begin{bmatrix} ans.1 = (AB = \langle 6, 4, 3 \rangle) \\ ans.2 = (AB = 6i + 4j + 3k) \\ ans.3 = (|AB| = (\sqrt{61}, 7.810)) \\ ans.4 = (u = 0.768i + 0.512j + 0.384k) \\ ans.5 = (c = 3.841i + 2.561j + 1.921k) \\ ans.6 = (d = -5.378i - 3.585j - 2.689k) \end{bmatrix}, Ans4 = \begin{bmatrix} ans.1 = (AB = \langle 13, -6, 16 \rangle) \\ ans.2 = (AB = 13i - 6j + 16k) \\ ans.3 = (|AB| = (\sqrt{461}, 21.471)) \\ ans.4 = (u = 0.605i - 0.279j + 0.745k) \\ ans.5 = (c = 3.027i - 1.397j + 3.726k) \\ ans.6 = (d = -5.449i + 2.515j - 6.707k) \end{bmatrix}$$

$$Ans5 = \langle -32, 24 \rangle, \quad Ans6 = \langle 3, 20 \rangle, \quad Ans7 = \langle -29, 67, -7 \rangle, \quad Ans8 = \langle -28, -8, 11 \rangle$$

$$Ans9 = \begin{bmatrix} ans.1 = [|a| = [3\sqrt{13}, 10.817]] \\ ans.2 = \begin{bmatrix} b = \langle -36, -54 \rangle \\ |b| = [18\sqrt{13}, 64.900] \end{bmatrix} \\ ans.4 = \begin{bmatrix} c = \langle 18, 27 \rangle \\ |c| = [9\sqrt{13}, 32.450] \end{bmatrix} \end{bmatrix}, Ans10 = \begin{bmatrix} a + b = \langle 20, -6 \rangle \\ |a| = [\sqrt{130}, 11.402] \\ |b| = [\sqrt{290}, 17.029] \\ |a + b| = [2\sqrt{109}, 20.881] \end{bmatrix}, Ans11 = \begin{bmatrix} a - b = \langle -2, 20 \rangle \\ |a| = [\sqrt{130}, 11.402] \\ |b| = [\sqrt{290}, 17.029] \\ |a - b| = [2\sqrt{101}, 20.100] \end{bmatrix}, \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ MUT \end{bmatrix}$$

$$Ans12 = \begin{bmatrix} a + b = \langle 19, 1, 0 \rangle \\ |a| = [\sqrt{285}, 16.882] \\ |b| = [\sqrt{213}, 14.595] \\ |a + b| = [\sqrt{362}, 19.026] \end{bmatrix}, Ans13 = \begin{bmatrix} a - b = \langle 3, 15, 20 \rangle \\ |a| = [\sqrt{285}, 16.882] \\ |b| = [\sqrt{213}, 14.595] \\ |a - b| = [\sqrt{634}, 25.179] \end{bmatrix}$$

$$Ans14 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{130}, 11.402]) \\ ans.3 = (\theta = 37.875 \text{ degrees}) \end{bmatrix}, Ans15 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{106}, 10.296]) \\ ans.3 = (\theta = 150.945 \text{ degrees}) \end{bmatrix}$$

:
:
:

$$Ans1 = \begin{bmatrix} ans.2 = (AB = \langle -6, 3 \rangle) \\ ans.3 = (AB = -6i + 3j) \\ ans.4 = (|AB| = (3\sqrt{5}, 6.708)) \\ ans.5 = (u = -0.894i + 0.447j) \\ ans.6 = (c = -6.261i + 3.130j) \\ ans.7 = (d = 4.472i - 2.236j) \end{bmatrix}, Ans2 = \begin{bmatrix} ans.2 = (AB = \langle 9, 5 \rangle) \\ ans.3 = (AB = 9i + 5j) \\ ans.4 = (|AB| = (\sqrt{106}, 10.296)) \\ ans.5 = (u = 0.874i + 0.486j) \\ ans.6 = (c = 6.119i + 3.400j) \\ ans.7 = (d = -7.867i - 4.371j) \end{bmatrix}$$

$$Ans3 = \begin{bmatrix} ans.1 = (AB = \langle 7, 5, 5 \rangle) \\ ans.2 = (AB = 7i + 5j + 5k) \\ ans.3 = (|AB| = (3\sqrt{11}, 9.950)) \\ ans.4 = (u = 0.704i + 0.503j + 0.503k) \\ ans.5 = (c = 4.925i + 3.518j + 3.518k) \\ ans.6 = (d = -3.518i - 2.513j - 2.513k) \end{bmatrix}, Ans4 = \begin{bmatrix} ans.1 = (AB = \langle 10, -6, 11 \rangle) \\ ans.2 = (AB = 10i - 6j + 11k) \\ ans.3 = (|AB| = (\sqrt{257}, 16.031)) \\ ans.4 = (u = 0.624i - 0.374j + 0.686k) \\ ans.5 = (c = 3.119i - 1.871j + 3.431k) \\ ans.6 = (d = -4.990i + 2.994j - 5.489k) \end{bmatrix}$$

$$Ans5 = \langle 22, 22 \rangle, Ans6 = \langle 14, -31 \rangle, Ans7 = \langle 16, 41, -27 \rangle, Ans8 = \langle 34, -10, -16 \rangle$$

$$Ans9 = \begin{bmatrix} ans.1 = [|a| = [\sqrt{89}, 9.434]] \\ ans.2 = \begin{bmatrix} b = \langle 40, -25 \rangle \\ |b| = [5\sqrt{89}, 47.170] \end{bmatrix} \\ ans.4 = \begin{bmatrix} c = \langle -32, 20 \rangle \\ |c| = [4\sqrt{89}, 37.736] \end{bmatrix} \end{bmatrix}, Ans10 = \begin{bmatrix} a + b = \langle 2, 13 \rangle \\ |a| = [2\sqrt{41}, 12.806] \\ |b| = [\sqrt{89}, 9.434] \\ |a + b| = [\sqrt{173}, 13.153] \end{bmatrix}, Ans11 = \begin{bmatrix} a - b = \langle 18, 3 \rangle \\ |a| = [2\sqrt{41}, 12.806] \\ |b| = [\sqrt{89}, 9.434] \\ |a - b| = [3\sqrt{37}, 18.248] \end{bmatrix}, \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ MUT \end{bmatrix}$$

$$Ans12 = \begin{bmatrix} a + b = \langle -14, 13, 7 \rangle \\ |a| = [5\sqrt{10}, 15.811] \\ |b| = [\sqrt{114}, 10.677] \\ |a + b| = [3\sqrt{46}, 20.347] \end{bmatrix}, Ans13 = \begin{bmatrix} a - b = \langle -4, -3, 17 \rangle \\ |a| = [5\sqrt{10}, 15.811] \\ |b| = [\sqrt{114}, 10.677] \\ |a - b| = [\sqrt{314}, 17.720] \end{bmatrix}$$

$$Ans14 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{74}, 8.602]) \\ ans.3 = (\theta = 35.538 \text{ degrees}) \end{bmatrix}, Ans15 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{130}, 11.402]) \\ ans.3 = (\theta = 322.125 \text{ degrees}) \end{bmatrix}$$

$$Ans1 = \begin{bmatrix} ans.2 = (AB = \langle -3, 4 \rangle) \\ ans.3 = (AB = -3i + 4j) \\ ans.4 = (|AB| = (5, 5.000)) \\ ans.5 = (u = -0.600i + 0.800j) \\ ans.6 = (c = -4.800i + 6.400j) \\ ans.7 = (d = 5.400i - 7.200j) \end{bmatrix}, Ans2 = \begin{bmatrix} ans.2 = (AB = \langle 9, -4 \rangle) \\ ans.3 = (AB = 9i - 4j) \\ ans.4 = (|AB| = (\sqrt{97}, 9.849)) \\ ans.5 = (u = 0.914i - 0.406j) \\ ans.6 = (c = 6.397i - 2.843j) \\ ans.7 = (d = -4.569i + 2.031j) \end{bmatrix}$$

$$Ans3 = \begin{bmatrix} ans.1 = (AB = \langle 5, 5, 6 \rangle) \\ ans.2 = (AB = 5i + 5j + 6k) \\ ans.3 = (|AB| = (\sqrt{86}, 9.274)) \\ ans.4 = (u = 0.539i + 0.539j + 0.647k) \\ ans.5 = (c = 4.313i + 4.313j + 5.176k) \\ ans.6 = (d = -4.852i - 4.852j - 5.823k) \end{bmatrix}, Ans4 = \begin{bmatrix} ans.1 = (AB = \langle -4, -4, -4 \rangle) \\ ans.2 = (AB = -4i - 4j - 4k) \\ ans.3 = (|AB| = (4\sqrt{3}, 6.928)) \\ ans.4 = (u = -0.577i - 0.577j - 0.577k) \\ ans.5 = (c = -2.887i - 2.887j - 2.887k) \\ ans.6 = (d = 4.041i + 4.041j + 4.041k) \end{bmatrix}$$

Ans5 = $\langle 40, -44 \rangle$, Ans6 = $\langle 19, -27 \rangle$, Ans7 = $\langle 27, -13, 9 \rangle$, Ans8 = $\langle -9, -1, -39 \rangle$

$$Ans9 = \begin{bmatrix} ans.1 = [|a| = [3\sqrt{13}, 10.817]] \\ ans.2 = \begin{bmatrix} b = \langle 30, -45 \rangle \\ |b| = [15\sqrt{13}, 54.083] \end{bmatrix} \\ ans.4 = \begin{bmatrix} c = \langle -36, 54 \rangle \\ |c| = [18\sqrt{13}, 64.900] \end{bmatrix} \end{bmatrix}, Ans10 = \begin{bmatrix} a + b = \langle 3, 17 \rangle \\ |a| = [5\sqrt{5}, 11.180] \\ |b| = [\sqrt{193}, 13.892] \\ |a + b| = [\sqrt{298}, 17.263] \end{bmatrix}, Ans11 = \begin{bmatrix} a - b = \langle 17, -7 \rangle \\ |a| = [5\sqrt{5}, 11.180] \\ |b| = [\sqrt{193}, 13.892] \\ |a - b| = [13\sqrt{2}, 18.385] \end{bmatrix}, \begin{bmatrix} M \\ a \\ t \\ h \\ @ \\ MUT \end{bmatrix}$$

$$Ans12 = \begin{bmatrix} a + b = \langle 0, 0, 18 \rangle \\ |a| = [5\sqrt{5}, 11.180] \\ |b| = [\sqrt{233}, 15.264] \\ |a + b| = [18, 18.000] \end{bmatrix}, Ans13 = \begin{bmatrix} a - b = \langle -10, 16, -6 \rangle \\ |a| = [5\sqrt{5}, 11.180] \\ |b| = [\sqrt{233}, 15.264] \\ |a - b| = [14\sqrt{2}, 19.799] \end{bmatrix}$$

$$Ans14 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{113}, 10.630]) \\ ans.3 = (\theta = 48.814 \text{ degrees}) \end{bmatrix}, Ans15 = \begin{bmatrix} ans.2 = (|a| = [\sqrt{113}, 10.630]) \\ ans.3 = (\theta = 138.814 \text{ degrees}) \end{bmatrix}$$

